G. Pefooanthe nudic ate d operstioo.

$15000X 5= $0.609.00 -%$75.00 =

Mike wants to divide $95.72 equally between fow friends. Is that
pos=zble? (VWoitk-out the problem in the space below )

kebrn and Funcons (1.0-15)

Fill-ni the bl withtlhe cootect operstion.

100 10 =10 -] 0 =54 240 2=30
2. Pafonmthe uwlic ated operatiooys) for &ac problein
THXAIX3= 054X 9 =
0543 0 = 5X (3X7 =

9. Chit of the pooblans o &S it & rectayzle sconod arg that e xooe £5 the associatioe Laoar.

Measurement and Geometry (1.1 2.5)

10. “Eidte the letter of the e froonmthe cohoro on the gt o the bladk followwnyg each tem mthe
cohnrm onvthe keft.

A ghssof il & nuwhes
The length of yoon clhsspoomm B . 1miles
The distance betwes Daly Ciy sl SF. C. enmices
Te length of & perwil L. yaads



